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Summer Math
Date: Score:
PreAlgebra
Find each product. Evaluate each expression.
{:; 0 15 0 27 O 74 O ((13-6))*+11+6 © 10+2+4+(2x10)
= X 10 X L/ X 41
5 X 290 X 47 X et
o Q
o >
O 3
o | O 20 (s5) 86 ® [(12+3)?]x(150-145) O 15x1+5+11+5
® x 13 x 15
’O’ —— —
0
Find each difference. Answers should be in simplest form. Find each quotient. Simplify your answer.
S o1 _ 7.5 _ 1. 43 _ 4 . 41 _
0|9 18 6 18 14 © 37 14+ 0 25 15= -
- e)
9 g
S s 1 _ 3 1 _ 1. 41 _ 1. 14 _ =
210 ¢ 2 - © 4 5 0 257 15 = e 15+ 15 = S
L 7]
71 _ 13. 41 -
O 1 2 © 3117 17
» | Find each quotient. © A cookie-of-the-month © Dana has 25 songs on her
c 0 2 o subscription costs $14 each mp3 player. Each song
S month or $150 if you pay for | averages 3min 22sec long. If =
| | ' o
Oﬂ_% 6.7134.237 6.21123.318 21117.367 the whole year at one time. she listens to every songina | 3
How much money is saved if | row, how much time will it V)
oZ : ) =
" you purchase the year at take? Give your answer in o
T | O (S once rather than paying hours, minutes and seconds. %
% 15250.5 11[131.23 monthly? 3
)
QA




Date:

“ Summer Math -
PreAlgebra

Score:

Find each product. Find each prime factorization of each number.
;(":; 9x5= | 5x9= i 3x10= | 8x6= O 99 O 44 © 275
=
O | 8x8= 1 12x3 = 112x1= P 7x11 = o
o i i i =
S| sxt0= 9x4= ' 10x4= ' 5x6= 3
RS | | | 0O 24 © 297 N
© | 11x9= 1 11x8= 1 12x7 = 1 7x3=
(9] : : :
0 E : i
1x9= P1x11= 1 9x6 = 110x6 =
Find each missing part to make fractions equivalent. Find each quotient. Simplify your answer.
-5 -4 8.9 -__ 3.5 - __
0| 9O 10 20 O 97 T8 o 5 9 0 5 -
- e)
9 Q
S .3 1.8 7 e 1. - S,
21O 6 18 © 48 2 B © S
L 7]
770 5.9 o
O 120 0 7
» | Find each product. © Enid went shopping this © In the wizarding world 1
+— . .
S|e 535 [2) 34.9 © 4833 weekend. She spent half of Galleon. is eq}lal to 17 Sickles <
o x 4.78 x 30.8 x 52 her money on a new pair of and 1 Sickle is equal to 29 S
00_3 shoes and %3 of the Knuts. If a wand costs 23 3
% remainder on a belt. If she Galleons, how many Knuts V)
" spent $16 on a belt, how would that be? 3
T | O 9461 © 572 much money did she begin =
% x 40 x 236 her shopping trip with? 3
)
QA




Summer Math
Date: Score:
PreAlgebra
Find each product. Fill in the divisibility chart below with “yes” and “no”.
8 6x12= P 11x11 = 1 12x10 = ' 1x3= Is 28,544 divisible by each of the given numbers?
9 E ; ;
T | sx12= 2x6= L 4x2= L 9x5= tj2 /34151618910
' ! : o
S i ; : =
O | 3x9= | 7x7 = | 4x3 = 1 9x3 = @
RS Is 18,503 divisible by each of the given numbers? -
{é 12x6 = i2><6= §8x8= §9X9= 1 > 3 4 s 6 3 9 10
10x10 = i 12x1= 19x11= i 2x2=
Find each missing part to make fractions equivalent. Find each quotient. Simplify your answer.
1.3 2.6 1, ,1_ 1 .14 =
0|0 27 7 @ 233% 27 = o lg+ld = -
S -3
Q g
+—
Q 1 _ 3 3 __ 9. ol1_ . q10 _ =
IS 2 B © 13 104 ® 1l 2127 e 3 133 = g
L 7]
. o2 =
© 3 ¢ e 3 63 =
» | Find each quotient. © Dante spends /3 of his © The area of a rectangle is
c 2 birthday money on a video 80cmz. The perimeter is
S o N game. He spends /s of the 36cm. What are the =
. 5 .
| | o
aﬂ_% 131208 91138.24 8136 remainder on candy and dimensions of the rectangle? | 3
o5 twice as much on Pokémon V)
"~ cards. He has $16 left over. 3
2] _ o
o O © How much money did he >
£ 12610962 9[83.7 receive? 3
)
a)




“ Summer Math

Date: Score:

PreAlgebra

Find each difference. Find the area of each figure.
e € 79,168 -37,107 © 665,233 -554,120 € 360,514 — 200,304 © A rectangle with a base of € A rectangle with a base of
% 9cm and a height of 13cm. 13in and a height of 11in.
5 Q
o >
@) )
o | @ 666899 -406,102 @ 730,804 - 301 @ A triangle with abase of @) A rectangle with a base of -
S 9ft and a height of 14ft. 20in and a height of 6in.
0

Find each difference. Simplify your answer. Find each quotient. Simplify your answer.

20 20 _ 15 15 _ 3 . 7 4 . _
0O 25 25 O 722" 22 © 1377 13~ 0 15+ 9 = -
ks g
S 10 3 _ 31 1 _ _ 5 2 . _ 2
g0 16 16 © 5 5 0 2 * I3j © 4375 = S
L 7]
3 3 _ 1. 1 _

O ¢ 5 © lg* 1%~
» | Write each percent as decimal. © Ms. Felder is making © Six pencils and two
c spaghetti for herself and her | erasers cost $2.42. One
S 4 child Th dles cost encil and two erasers cost =
°l o 50% = O 473% — children. The noo penci w : S
0‘1_3 $1.82, the tomato sauce $0.82. What is the price of 3
o5 costs $3.09 and the meat is each pencil and each eraser? | 4
© | @ 224% = © 63.8%= $6.84. How much does the §_
o] spaghetti cost per person? o
£ 3
Q [
21O 50%=




Summer Math
Date: Score:
PreAlgebra
Find each product. Find each greatest common factor (GCF).
%’ 8x1= | 8x9= L 7x6= i 7x3= © 84,140 O 24,72 © 27,108, 45
S | 4xs : 1x6 é 5x9
x8= t1x6= 1 5x9=
o | | Q
51 10x12= 10x12= | 9x4= 3
O ; ! O 33,165 O 42,48 K
n | 7x2= 1 8x1= t1x2=
(9] : :
0 : |
8x6= 1 5x9= P 7x4 =
Find each missing part to make fractions equivalent. Find each quotient. Simplify your answer.
2 _ 14 A7 1.9 -_ 2 .9-__
o 3 14 0 3 (4 B -
- =
9 Q
210 12 126 © 15 120 2 © S
L 7]
13 8.3
O T 6 S TR
» | Write each percent as a simplified fraction. © Jan is making paracord © If Jan wants to make an
% bracelets and keychains. He equal number of bracelets
Sl e 30% = —— [4) 744% = — needs 8ft to make a bracelet and keychains, how many g
00_3 and 3ft for a keychain. If he can he make with 55ft? 3
o5 has 37ft of paracord, how V)
15% = — 475% = —— many bracelets and 3
o] keychains could he make to o
£ use up all of the cord? 3
S| g 14.8% = — <
A O . 0 =




Summer Mdafh
Date: Score:
PreAlgebra
Find each difference. Find the lowest common multiple (LCM).
;(":; © 659,804-227,701 € 197,975-140,812 € 87,763 - 34,133 Q 10,7 0 11,2 O 6,10, 14
E
o Q
a >
@) )
o | @ 870,253-153 © 973,583 - 433,062 O 75 O 10,3 ?
g
0
Simplify each fraction into lowest terms. Find each sum. Simplify your answer.
o | O 60 0 3 o 173 10 O 1720 11 -
- e)
9 g
S 14 _ 10 _ 2 6 _ 13 2 _ =
S|@® 70~ © 3" ® ST *57 = © 41x+ 5= S
L 7]
48 _ 1 7 _
© g3 © 87 +71%
» | Write each fraction as a percent. © Josiah has 15 quarters, 8 © At the school store a
% dimes and 12 nickels. He pencil costs $0.15, a pen
e 4 % = [4) % = wants to buy a snack that costs $0.30 and a notebook g
00_3 costs $5. Does he have costs $1.45. Brianna buys 5 3
% enough money? Explain. pencils and 1 pen. If she V)
o | © 41;_ = o 311_2 = brought $6 to the store, how | 3
ij many notebooks can she =
£ buy? 3
3 3 _ >
Q © 11 —




Week:

Summer Math ™

Date: Score:

PreAlgebra

Find each quotient.

Fill in the divisibility chart below with “yes” and “no”.

S| 30+3= P42+ 7 = 136+ 6= 1+1= Is 97,650 divisible by each of the given numbers?
9 E ;
S| 72+8= 1 72+9= 172 +8= 7+1= ! 2 3 * > 6 8 2 10
S ' : Q
S i : : =
O | 42+7= 1 5+1= 170+ 7 = 112+ 4= @
RS Is 42,481 divisible by each of the given numbers? -
2+2= | 56+~ 8= | 48+ 6= | 64+~ 8=
Find each sum. Answers should be in simplest form. Find each quotient. Simplify your answer.
0 L + — = o + = 0 7l X 7l = o 14 X 3 =
2 2 5 5 3 2 2 l
= 2
= o
S 1,1 3 .7 = 5 1 _ 11 1 _ =
S|1e 373 © 7 "o ® 4ig* 275" e 1xx1%= S]
L 7]
13,1 _ 1 3 _
» | Find each quotient. © Brandon graphs three © Feliciano gets up at
% 1) (2) o points on a coordinate plane: | 6:33am. It takes him 24 s
) (2,8),(0,4) and (3,10). What | minutes to eat breakfast, 2
| | o
Oﬂ_% 8159.52 151181.5 2168 shape do these points make? | minutes to brush his teeth 3
o5 and 7 minutes to get V)
e dressed. At what time is he 3
T | O (5] ready for school? =
£ 12[110.88 6.9[91.77 3
)
QA




Summer Math
Date: Score:
PreAlgebra
Find each product. Fill in the divisibility chart below with “yes” and “no”.
8 (1) 221 (2] 839 © 794 Is 19,103 divisible by each of the given numbers?
Qo X 5 X 5 X 4
5 1 2 3 5 10
g Q
o >
@) )
o | @ 3522 (5) 99 Is 41,446 divisible by each of the given numbers? -
5| x4 x5 1 2 3 5 10
0
Find each quotient. Simplify your answer. Find each sum. Simplify your answer.
P 3 .1 _ 4, 3 _ 1 ,c2 -
» | O 10 0 3~ 0 39+ 1 = QO 85 *5%3 = .
- e)
9 g
S . 10 5 . 4 4 1 3 =
-~ - = —_ —— —_ — P
cle 11 0 ¢ T3 © 27 T3 e 8ir+45 3
(@)
.3 9 4 _
3) " © 6717+575 =
o | Convert each decimal into simplified fraction form. © Nate is making baby © Lin is 5ft. tall and casts an
% blankets. He needs 40in. of 8ft. shadow. At the same
°le 0.35 = —— [4) 082 = —— one fabric and 30in. of the time of day, a tree casts a g
O second fabric for each 72ft. shadow. How tall isthe | 3
¥ (o
o5 blanket. How much fabric tree? V)
035 =—— 01 =—— does he need to make 10 3
o |0 (5] g
o) blankets? Give your answer o
£ in feet and inches. 3
Q [
©|lg 0822=—r
QA




Week:

Summer Math ™

Date: Score:

PreAlgebra

Find each quotient. Use the divisibility rules to answer each question.

C|4a2+6=  [2+1= 2+1= 130+10= © Is 553,776 divisible by 10?
= E i i
g|7+1= (35+7= 163+7=  148+8= © s 598,594 divisible by 10? o
' ' ' =

o i H ; -
O | 20+4= |42+ 6= 130+10= :24+8= © 15802,073 divisible by 1? ]
Q i i :
d%’), 7+7= | 80+8= (40=10=" i8+4= O s 184,749 divisible by 10?

50+10= 12+6= 56 +7= 10+ 10 = © [s805,969 divisible by 5?

Find each quotient. Simplify your answer. Find each quotient. Simplify your answer.

5 .1 _ 1.1 1 _ 1 1 _
0O 9 7 T O 727y @ 27%2 = Q133 x 25 = -
- -
9 g
S 5 .1 _ 6 . 6 4 _ 1 27 _ =
21O 9 g © 9 10 0 2 *1g= e 1> 15= g
L 7]
4 .1 _ 1 1 _

© 5 © 37 23
» | Write each fraction as a decimal. © A man parachutes from © Give your answer for
% an airplane at an altitude of question 1 in kilometers if
e % = [4) 3% = 12,500ft. He freefalls for 1km is approximately g
00_3 about a minute and then 3,280ft. Round your answer 3
o5 pulls the cord at an altitude to the nearest tenth. V)
o |O = o 44 = of 2,315ft. How far did he 3
o freefall? Give your answer in %
£ feet. 3
3 9 _ @
Q © 11 —




“ Summer Math

Date: Score:

PreAlgebra

Find each sum or difference. Find each prime factorization of each number.
;(":; © 96827-27384 € 19,991 -486 © 19,038 - 2,569 © 35 O 15 © 250
E
o Q
o >
O 3
o | @ 55473-22,850  © 98,745 + 89,414 (4 B O 16
g
0

Find each difference. Simplify your answer. Find each sum. Simplify your answer.

2 1 _ 9 5 _ 4 .5 _ 5,02 =
8047 47 046 46 065+614_ 099+93_ -
S g
S 10 10 _ 23 20 _ 1 4 3 1 _ =
210 297 29~ © 27 7 - ® St T - © 7515+ g
(@)
3 3 _ 1 3 _

© 135 18 © /775 =
» | Write each percent as decimal. @ Mr. Burke’s class has 25 ® Your brother traveled
% students. 40% of them are 117 miles in 2.25 hours to
Ol @ 310% = O 439 — sick on Monday morning. visit you. What was his g
00_3 How many children were in average speed in miles per 3

class that day? hour? V)

oZ =
» |60 91% = © 339.5% = 9
g @
S 2
21O 93%=




Summer Math
Date: Score:
PreAlgebra
Find each product. Fill in the divisibility chart below with “yes” and “no”.
% (1) 57 (2] 76 © 22 Is 91,652 divisible by each of the given numbers?
5| —— RaEEELS * - 1| 2 3 | 4 | 5 6 | 8 | 9 | 10
g Q
o >
O 3
o | O 22 (5) 68 Is 56,359 divisible by each of the given numbers?
» x 11 x 64
(9 E— E— 1 2 3 4 5 6 8 9 10
0
Simplify each fraction into lowest terms. Find each quotient. Simplify your answer.
0|0 75 O 2 o - 11 o -
- e)
Q g
'S 49 _ 24 _ 2 .6 =— I B 2
21O 7 © 75 0 5 6= e 77~ S
L 7]
56 2 .6 =__
O 43 o 576
o | Answer each of the following questions on percent. © A triangle has a base of © Darnel is having a
c 12cm and a height of 6cm. A | cookout. The hamburger
- 0 ?
§ © Whatis 80% of 2501 square has a base of 9cm. patties come in a box of 12 g
00_3 © Whatis 95% of 335? Which has the larger area? but th'e hamburger buns 3
By how much? come in bags of 8. How many | 4
2 - hould h 3
» | © Whatis 6% of 220? boxes & bags should he o
o} purchase so he has an even o
% O Whatis 50% of 210? number of patties and buns? §
)
e

Whatis 50% of 1907?




Summer Math
Date: Score:
PreAlgebra
Find each product. Fill in the divisibility chart below with “yes” and “no”.
8 (1) 66 (2] 15 © 26 Is 6,006 divisible by each of the given numbers?
O A an 2
= 2= = LLLE 1 2 3 4 5 6 8 9 | 10
g Q
o >
@) )
o | O 23 (5) 42 Is 78,677 divisible by each of the given numbers? -
& x 10 x 21 1 | 2| 3] 4|5 |6 | 8] 9 |10
0
Find each sum. Simplify your answers. Find each quotient. Simplify your answer.
3 1 _ 13 1 _ 4. 13 = 6. 423 =
0 |® 4Ty O 15" 15 @ 2%5° 1y = O 2117 45~ -
- =
9 g
S 7 6 3 10 1 1 =
+ = + = - = _ = _— = ~’
21O 157 715 © 11 14 @18 = 3 e lg+ 1% S
L 7]
7 2 _ 3. g7
© 5 "9~ © 1y7 65~
o | Answer each of the following questions on percent. © In science class, three © A shipping box of
c beakers contain %2, %, and 3% | Chocolate Valentine Hearts
- 0 ? ) )
§ © Whatis 25% of 357 cups of a liquid. The teacher | costs $65 and contains 13 g
00_3 © Whatis 145% of 380? pours Fher.n all togethgr, .and individpally wrapped . 3
then distributes the liquid Valentine Hearts. What is the | o
8] . . =
» | ©® Whatis 6% of 455? evenly between the beakers. | unit price per Valentine 51
O How much liquid does each Heart? o
% O Whatis 4% of 465? beaker now contain? §
)
e

What is 5% of 185?
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